o

/4
/74

V /4
1

V4
V. /4

V. 4
E A 7~

Y 4
Y 4
0000
00000000

Y

0

SRERHE NS

Tech. Reqg

1.Remove burrs, and blunt edges;
2. Unmarked dimensional folerances shall camply with the

standard of GB/T1804-m

o

=

L]

@®

C———

@ .
(L

Li}

pil

723

Pump Max. Pressure (bar) Max. pump Flow(L/min) Pump Power(kW) | Heater(kW) | Max. Temp. |  Weight(kg) Ver,
4.7 25.5 055 6 200°C 65 G
Inlet /0utlet Size CE PT female thread inch)| Cooling Method Main/Sub O Tank (L) Hei"u‘jwqh;‘ k
%/% Indirect Caoling 6/312 1

3625
]
il
=9
3 YW90002300000 ail cap 1 Assembly
2 STM-60TM-B-ALL Internal structure 1
1 STM-607M-A-ALL Shell metal plate 1
i R % 4 & *ﬂf’ BE| £
4 BE| o |#E  STM-607M B WA »E&
STM-60TM-ALL
it ¥ WA =Rl
L4} * SHINI t55ssinia KEER
i Eod g FHA TR B Shiri Plastics Technologies, Inc. W ‘




N

Wz 4 ]
I e
. | \ | Pz
W 4 1
Y 5 ®
i ///////W/// W ] 36 | YW69081500000 Butterfly bolt M8x15 a235A | 2 GB/T 3098
fj t //////// 35| STM-607-A-06 Cover plate 1 Welding parts Borrowed
W///// 34| STM-607-A-05 Control box 1 Welding parts Borrowed
Y /4 WV /4 ° 33| VEBI245100100 STM controller i
///// //////// 32 | YW00040600200 Long door lock key SUS201 | 1 CF-406-0H
bbbbbbbbbbbbbbb 31 YW62051000100 |Large cross socket flat head screw M5x10)  Q235A 12 Jismm
it / /////////////// ’ ’ 30 STM-607-A-08 Control box rear plate 1 Welding parts Borrowed
fhg WW S ) R R 29 SG-S-01 Fixing board of wire clamps SPCC20 | 1
1i [ o ] 28 | BES51250400450 Cable 1| 25x4CxtMITubular terminal)Select based an voltage
”m\ . e Q ! “ ‘ 27| YE6T7002900000 Cable clamp PVC 1
: - 26 YE90048501200 RS485 Cammunication interface board 1
25| YR&0048500000 Shell RS485 1
24| STM-607-A-02 Leff side plate 1 Welding parts Borrowed
23 STM-607-A-13 Rack 1 Welding parts Borrowed
22 | YRL0523040000 Plastic flexible buckle PVC 1 52x30 has mould
21| YW65020500000 Rivet 2024 33 GB/T 827
20 Yw01051000000 Pin spring 65Mn 6 far new STM
19 | YP31118600600 Alulabel 026 | 1 Using Shell Heat Medun I 52
18 STM-607-A-01 Right side plate 1 Welding parts Borrowed
17 STM-607-A-10 Base plate af confrol box Electrolysis plank| 1 Barrowed
16 YW66081300000 Flat washer 8 Q235A 6 8x19x2 0
15 | Yw000L0600000 Daor lock long fender SUS201 1 MF-406-DH
1L YW00000000100 Long door lock PVC 1
13 YW20660900100 Door plank alumnum handle 2024 1 6609lyaxuan)
12 | YW63040600000 Cross recessed pan head screw M4x6 Q235A 2 GB/T-823
1L YE10021160000 Main power switch PVC 1 TO-2-1/EA/SVB/16A Mule
10 STM-607-A-0L Doar plank 1 Welding parts Borrowed
9 YW06219100000 Big hinge 2024 2 Shengyiu CL219-1
8 YW6T0L0600600 |crass socket pan head self-tapping lock screw Mixg  Q235A 5 GB6560
1 YW61061601200 Inner hexagon cylindrical screw Mex16 129 L GB/T70.1
6 YW03000200000 Castor Rubber | 4 2" without brake 35KG
5 YW61082001200 Inner hexagon cylindrical screw M8x20 12.9 4 GB/T70.1
L YW65008000100 Standard spring washer 8 65Mn 6 GB/T93
3 YW67481900000 Cross sacket head tapping screw Q235A 1 GB/T15856.1
2 YRL0018500000 Fixed base PVC 1 WQSAD18.5B
1 YW62061000000 |Large cross socket flat head screw M6x10|  Q235A 16 Jistm
% £ % 4 % #HHE 2
Renove s d blunt ed HE Ui M ST STM-60TM-A-ALL k| n
emove burrs, and blun - -A- -
2 Unmarked d\ménswonat fotEergaEnSt’eS shall comply with the &H' ’li &[\%%&ﬁ ‘E‘ @ ’ﬁﬁ
standard of GB/T1804-m > e
L i SHINJ i5mrsanennas | K2R
it ERw B ERA Y | E BEY — Shiri Plastics Technologies, Inc. W ‘




Tech Reg

1. Remove burrs, and blunt edges;

2 Unmarked dimensional folerances shall comply with fhe
standard of GB/T180L-m

$18 | £1R

3k STM-607-B-05 Pressure qauge pipe SUS30L |
33 YW85001000100 Pressure gauge 1 0~1.0MPa Range
32 YW63030600000 Cross recessed pan head screw M3x6 | Q235A | 3 GB/T-823
31 BES0341500050 Thermocouple SUS304 1 15M
30 Y W62051000100 Large ross sohet flaf head screw | Q2354 | 3 IS
29 S-60-ALL Level detector assembly 1 Assembly
28 YRL40251500100 Plastic plug without nuf PVL 2 SM25x15(Black )
27 5-199 H to PT connector Hs8 2 1/L"PT to 1/L"H
26 5-82 Liquid level indicator nut H62 1 1/4"H
25 YW64000400500 Hex nut Mi AZ-70 12 GB/T6170
24 YW66051300000 Flat washer A grade 5 Q235A | 16 GB/T97.1(5.5x10x1)
23 YW65050000000 Standard spring washer 5 65Mn 6 GB/T93
22 YR30000400100 Plasticplug V2" single-halered | PVL | 6
21 YP51031640000 Safety ceramic hat 3/16 ceramics | ¢ Safety ceramic hat 3/16
20 YW64000600300 Hex nut M6 A235A 5 GB/T6170
19 YW66061300000 Flat washer A grade 6 Q235A 5
18 YW65006000100 Standard spring washer 6 65Mn 5 GB/T93
17 YW66523400000 Copper Gasket A235A 2 SHD-100KG(5.2x3L)
16 5-190 Heating fube cover SPCC10 1
15 YW05083800100 Sleeve connecfor 2 8MMX3/8"PT L(H59)
T STM-607-B-04 Cooling pipe assembly 1 Welding parts Borrowed
13 YE67165800000 Quick connector of hose PVC 1 waG1-M16B/ADT5 8
12 STM-607-B-12 Cooling pipe water outlet SUS304 1
n STM-607-B-03 Heater pipe assembly 1 Welding parts Borrowed
10 YR20121200000 Flexible graphite gasket 1S0-68 2 120x120x2.0
g9 YW61103000100 Inner hexagon cylindrical screw M10x30| 129 8 GB/T170.1
8 YW66081900000 Flat washer 8 Q235A L 8x19x2.0
7 MP-55 Magnetic pump Q235A 1 Shini self-produced
6 YW60062500000 Hexagon bolt M6x25 4.8 L GB/T5781
5 STM-607-B-09 Mouning plate inslaioncofon of heafng fark | Aluninm |1
b YW61102500000 Inner hexagon cylindrical screw M0x25  12.9 L GB/T70.1
3 YW66102000100 Flaf washer A grade 10 0235A | 12 GB/T97.1 (11x20x2)
2 YW65010000000 Standard spring washer 10 65Mn 12 GB/T93
1 STM-607M-B-01 cooling hopper & Qil tank 1 Welding parts
ia K % 4 % R HE At
Ll L R STeOT STM-607M-B-ALL k| n
it ¥ WA =Rl
st # SHIN :5=pnssnnna HEER
it EHd Ehk ERA Bl | WM B Shiri Plastics Technologies, Inc. W ‘




Tech Reqg

1 Remove burrs, and blunt edges;

2. Unmarked dimensional tolerances shall comply with the
standard of GB/T1804-m

$2% | #0F
52 53 54 55 56 57
65 STM-607-B-1 Cooling pipe wafer inlef SUS304 1 Borrowed
6L S-142 The four-sef of the copper connectar 1
63 YW05083800000 Sleeve connector 2 8MMX3/8"PT (H59)
62 STM-90THT-B-17 Lengthened screw of oll discharge | HS8 | 1 Borrowed
61 YR10551500000 Graphite gaskef 1S0-68 | 2 for MP-55
60 YW65008000100 Standard spring washer 8 65Mn 8 GB/T93
59 YW61082500000 Inner hexagon cylindrical screw M8x25 | A235A 8 GB/T701
58 STM-607M-B-02 Heafing fank 1 Welding parts
57 YW05061400000 Sleeve connector 7 EMMX1/4'PT(H59)
56 STM-607-B-07 Level detector pipe SUS304 1
55 STM-607-B-06 Oil bypass pipe SUS30L 1 Borrowed
Sk YW50220000000 Butterfly ball valve SUS30L | 1/4" heat-resistant 200t
53 YW05061400100 Sleeve connector 1 6MMX1/4"PT LIHS9)
52 5-08 Pipe coupler H58 1 1/L"PTx1/4"PT
51 BH90115000050 High temp. fester 1 EGO
50 YE67109000000 Quick tonnector of hose PV 1 wae1-Po9B
L9 YE67015800100 Quick connector of hose PVC 2 WQEAD15.8B
L8 YW04030800400 Tonflan connector H58 1 1/L"PT<3/8"H L
L7 S-171 Teflon plug H58 1 3/8" Hoplug
L6 YE66015800000 Nylon hose PAG6 2 WY -PA6AD1S.88B 13m
L5 YE6T111000000 Quick tonnector of hose PV 1 WaG1-P11B
L1 S-84 Copper three-way pipe thread adapter 3/8 1 Equipped with universal copper nut
L3 YE6T001340000 Quick connector of hose PVC 2 WQEAD13.0B
L2 YE66001300000 Nylon hose PAG6 2 WY -PA6AD13.08 15m
L1 YE32213100000 Solenoid valve 1 3/8(kailing)220VAC
40 5-07 Copper pipe toupler H58 1 3/8"PTX3/8"PT
39 5-85 Copper joint H58 1 3/8"PTxdia 13
38 S-73 Copper joint H62 1 M13x1/2"PT
37 YW57010200000 Y Type Strainer H62 1 1/2°PT 30-35 mesh
36 STM-607-B-08 Water bypass SUS304 1 Borrowed
35 YR30010200000 Copper pipe plug Rubber 2 1/2°PT
i k% 4 LR § £
HAE L33 B STM-607M IS
i " ey STM-607TM-B-ALL E}@ =
L4} * SHIN :5=pnssnnna KEER
it EHd Ehk ERA Bl | WM B Shiri Plastics Technologies, Inc. W ‘




o

Max pump Flow(L/min] Pump Power(kW| | Heater(kW)| Max. Temp. Weight(kg)

5

Pump Max. Pressure (bar

58 50 1 9 200°C 70

l

Inlet /Outlet Size CE PT female Fhread (nch)| Cooling Method Main/Sub Dil Tank(L)

ze
3z
L

i dicct Cooling 6/32 1
7 Y A
/4
Y A
2 ) Y /4 .
| o Y E— @
20000 N7
y Y 4 )
Y 4 Y., /4
& 9 / W %}m ............... HE]
@ Y :
a0
T T LI -
/ e
912 362.5 P
Yy -
F
Yy 4 ///éé////éjg’
v Y 4
— Yy . A
= - " .
= : N\ p———
‘: km © AANNANNAY
/Q e ®\\\“\\“
iEi
2 STM-910M-A-ALL Internal structure 1
1 STM-607M-A-ALL Shell metal plate 1
Tech Reg Wi e i R % £ %k th‘;]‘ir- &;i i
5 STM-910M EE
; Enmarkebd d\m’ensijo:{al ffotedrgaﬂ[’es shall comply with the #it ¥ ?ﬂlﬁﬁbﬁﬂ St g@ 'ﬁ)ﬁ
standard of GB/T1804-m R b3 P N EFER
ﬁ i i&#j i& }% E% A il m ?ﬁ H ﬁ éH’N ;ini Plastics Tegcﬁnologiﬁ, Inz %ﬁ"% ‘




Tech. Reg:

1. Remove burrs, and blunf edges;

2. Unmarked dimensional tolerances shall camply with the
standard of GB/T1804-m

$ 18 | #2K
29 | STM-607-B-05 Pressure gauge pipe SUS304 | 1
28 | YW63030600000 | cCross recessed pan head screw M3xs | 0235A | 3 GB/T-823
27 YW85001000100 Pressure gauge 1 0~1.0MPa range
26 | YW90002300000 Qil cap 1 Assembly
25 BE90341500050 Thermocouple SUS304 1 15M
24 STM-607-B-04 Cooling pipe assembly 1 Welding parts Borrowed
23 | YW66523400000 Copper Gaskel 0235A 2 SHO-100KG(5.2x34)
22 | YW6L000400500 Hex nut Mk A2-70 | 12 GB/T6170
21 YR30000400100 Plastic plug 172" single-hole red PvC 6
20 | YW65050000000 Standard spring washer 5 65Mn 6 GB/T93
19 YW66051300000 Flat washer A grade 5 0235A 16 GB/T97.1(55x10x1)
18 YP51031640000 Safefy ceramic hat 3/16 ceramics 6 Safety ceramic hat 3/16
17 | YW64000600300 Hex nut M6 0235A 5 GB/T6170
16 S-190 Heafing tube cover SPCCTO 1
15 YW65006000100 Standard spring washer 6 65Mn 5 GB/T93
1L YW66061300000 Flat washer A grade 6 0235A g
13 YW05083800100 Sleeve connector 3 8MMX3/8"PT L(H59)
12 STM-607-B-12 Cooling pipe water outlef SUS304 | 1
1M | STM-910M-A-03 Cooling pipe water outlet SUS304 | 1
10 STM-910-B-08 Heater pipe assembly 1 Welding parts
9 YR20121200000 Flexible graphite gasket [SO-68 2 120x120x2 0
8 YW61103000100  [inner hexagon cylindrical screw Miox3p 12,9 8 GB/T701
7 YW66081300000 Flat washer 8 0235A L 8x19x2 0
6 | YW60062500000 Hexagon bolt M6x25 48 L GB/T5781
5 STM-910M-A-02 Heating tank 1 Welding parts
L YW66102000100 Flat washer A grade 10 0235A | 12 GB/T97.1 (11x20x2)
3 | YW61102500000 |inner hexagon cylindrical screw Miox2y 12,9 4 GB/T701
2 YW65010000000 | Standard spring washer 10 65Mn 12 GB/T93
1 STM-607-B-09  |Mounting plate insulation cotton of heating fank alsummi‘g"“e”‘ 1
i % 4 % LLE S o £
HE W5 L I I
it ¥ WA =Rl
st * SHIN :5=pnssnnna REER
it EHd Ehk ERA Bl | WM B Shiri Plastics Technologies, Inc. W ‘




30 31

Tech Reqg

1 Remave burrs, and blunt edges;

2. Unmarked dimensianal tolerances shall comply with the
standard of GB/T1804-m

32 33 34 35 36

$2R | £2F

317
38
39
40
L1
L2
43 66 | YW62051000100 |Lorge cross socket flaf head screw Msxio|  0235A | 3 ISEE
65 S-142 The four-set of the copper connector 1
@S " 64 | YW05083800000 Sleeve connector 1 8MMX3/8"PT (H59)
d 63 MP-100 magnetic drive pump MP-100 | QTA400 1 1KW anbo
62 | STM-907HT-R-17 | Lengthened screw of oil discharge H58 1 Borrowed
61 | YW04030800400 Tonflon connector H58 1 1/L"PT=3/8"H L
L5 60 S-1M Teflon plug H58 1 3/8" H plug
59 YE67109000000 Quick connector of hose PVC 1 WQG1-P09B
Lo 58 YR10110000000 MP-100Graphite gasket 1S0-68 2 has mould
57 | YW65008000100 | Standard spring washer 8 65Mn 8 GB/T93
L7 56 | YW61082500000 |Inner hexagon cylindrical screw Mex2s| 0235A | g 68/T70.1
55 BH90115000050 High temp. tester 1 EGD
54 STM-910M-A-01 caoling hopper & Oil fank 1 Welding parts
8 53 | YE67015800100 Quick connector of hose PvC 2 WQEAD15 88
52 YE66015800000 Nylan hose PA6E 2 WY-PA6AD15.8B 1.3m
51 YE6T111000000 Quick connector of hose PVC 1 WQG1-P11B
50 S_8L opper three-way pipe thread adapter 3/8° 1 Equipped with universal copper nut
L9 S-85 Capper joint H58 1 3/8"PTxdia 13
48 | YE32382400000 Solenoid valve 24V 1 3/8PT (kailing)
L7 YE67001340000 Quick connector of hose PVC 2 WQEAD13.0B
L6 YW59383800100 Pipe coupler SUS304 1 3/8"PTx3/8"PT L
L5 YE66001300000 Nylan hose PA6G6 2 WY-PA6AD13 0B 15m
Lt YR30010200000 Copper pipe plug Rubber 2 1/2"PT
L3 S-73 Capper joint H62 1 M13x1/2"PT
L2 | YWS57010200000 Y Type Stramner H62 1 1/2" PT 30-35 mesh
L1 STM-607-B-08 Water bypass SUS304 1 Borrowed
L0 | YE67165800000 Quick connector of hose PvC 1 WQG1-M16B/AD15 8
39 STM-607-B-07 Level detector pipe SUS304 | 1
38 YR40251500100 Plastic plug without nut PvC 2 SM25x1.5(Black )
37 S-82 Liquid level indicator nut H62 1 1/4"H
36 S-199 H to PT connector H58 2 1/L"PT to 1/L"H
35 | YW05061400000 Sleeve cannecfor 7 6MMX1/4""PT(H59)
34 S-60-ALL Level detector assembly 1 Assembly
33 STM-607-B-06 0il bypass pipe SUS304 1 Borrowed
32 S-08 Pipe caupler H58 1 VL PTx1/L"PT
31 YW05061400100 Sleeve connector 1 6MMX1/4"PT L(H59)
30 | YW50220000000 Butterfly ball valve SUS304 | 1 1/L" heat-resistant 200t
i % 4 % LLE S o £
j;]i )i% e S;;;;ZM B STM-910M-A-ALL %@ ﬁ;
L * SHIN :5=pnssnnna REER
ik i&ﬁj Edk ERA B WY B -y Shini Plastics Technologies, Inc. %ﬁ' % ‘




/4
Y| |

957

P
°

faa]
wEERHEIE

Tech Req

1. Remave burrs, and blunt edges;

2 Unmarked dimensional tolerances shall comply with the
standard of GB/T1804-m

Pump Max. Pressure (bar)

Max. pump Flow(L/min) Pump Power(kW)

Heater(kw) | Max Temp

Weight(kg)

50 1

12

200°C

100

nlet /Ouflet Size CE PT female thread (inch)

Caoling Methad

Main/Suti Dl TankIL)

]

171 Indirect Caoling

68/118

/ y @@ 4
(
Y. 4 e
Yy A
y 4
Y 4
y 4
4
[—
2 STM-1220M-B-ALL Internal structure 1
1 STM-1220-A-ALL Shell metal plate 1
ids R % 4 & WT’ BE| £
Ll K% BE STM-1220M BS Al %E
M- M-
#it B WAEEH PTHInEALE %@ HE
L4} * : EEERAREGERLT | RHEX
ﬁiﬂ i&#j i&)ﬁ E%}\ HE‘% ?ﬁ Eﬁ SH’N’ Shini Plastics Technologies, Inc. %ﬁ%‘




26

21

29

30 31

36

Tech. Req

1. Remove burrs, and blunt edges;

"
7
]9

2. Unmarked dimensional folerances shall comply with fhe

standard of GB/T1804-m

32

£1F | £2F

36 YE14152400000 Micro switch 1 LXWS-124 rod length: 100mm
35 | STM-1220M-B-02 Heating tank 1 Welding parts

3L | YW05061400100 Sleeve connector 3 6MMX1/4"PT L(H59)
33 S-85 Copper joint H58 1 3/8"PTx dia 13

32 YW62051000100  |Large tross socket flat head screw Msxto| A 235A 6 Jsmmn

31 S-60-ALL Level detectar assembly 1 Assembly

30 | STM-1220-B-08 Hot il bypass SUS304 | 1

29 | STM-1220M-B-01 raoling hopper & 0il tank 1 Welding parts

28 S-30 Aluminum oil cap YL-112 1 3/L"G female thread
27 | STM-1220-A-09 Ball 1 Welding parts

26 | YW05061400000 Sleeve connector 5 6MMX1/L " PT(HS9)
25 Yw85001000100 Pressure gauge 1 0-1.0MPa range

2L | YW63030600000 |Cross recessed pan head screw M3x6 | 0235A 3 GB/T-823

23 BH12060701710 Hto PT connector H58 2 female thread 1/4"PT fo 1/4"H
22 | STM-1220-B-04 Pressure gauge pipe SUS304 | 1

21| YW65010000000 | Standard spring washer 10 | 65Mn | 20 GB/T93

20 | YW66102000100 Flat washer A grade 10 0235A | 12 GB/T97.1 (11x20x2)
19 YW61102500000  [nner hexagon cylngrical screw Miox2g| 12 9 I GB/T70.1

18 | STM-1220-B-10 | Mountng iste msuatoncottonof neatng tans | 2L4M0U0 | 1

11 YW61103500000  |nner hexagon cylngrical screw Miox3g 12 9 8 GB/T70.1

16 S-171 Teflon plug H58 1 3/8" Hplug

15 | YW04030800400 Tonflon cannector HS8 1 1/L"PT=3/8"H L

14 | BH90115000050 EGD Overheat protector 1 EGO 50-300 'C

13 | YE6T111000000 Quick connector of hose PvC 1 WaG1-P11B

12 | STM-1220-B-09 Cooling pipe water autlet | SUS304 | 1

n S-84 opper three-way pipe thread adapter 3/8 1 Equipped with universal copper nut
10 | YE67165800000 Quick connector of hose PVC 1 WQG1-M16B/AD15.8

9 | YW66051300000 Flat washer A grade 5 0235A | 16 GB/T97.1(5.5x10x1)

8 | YW65050000000 | Standard spring washer 5 65Mn 6 GB/T93

7 YP51031640000 Safety ceramic hat 3/16 ceramics 6 Safety ceramic hat 3/16
6 | YW66061300000 Flat washer A grade 6 0235A | 5

5 | YW6L000600300 Hex nut M6 0235A | 5 GB/T6170

L YW65006000100 Standard spring washer 6 65Mn 5 GB/T93

3 YR30000400100 Plastic plug 1/2” single-hole red pPVC 6

2 YW61103000100  [nner nexagon cylmdrical screw Miox3g 12,9 8 GB/T70.1

1| YW66523400000 Copper Gasket 0235A | 2 SHD-100KG(5 2x34)
ids LT 2 4 & LIRS | g .23

Zji )f; e ST;%B;;JM K STM-1220M-B-ALL %@ ﬁ;
B # SHIN :5=pnssnnna KEER
i Ry EUE ERA By | W BEY — Shiri Plastics Technologies, Inc. W ‘




53/52 51

Sk

Tech. Reqg

1. Remove burrs, and blunt edges;

2 Unmarked dimensional folerances shall camply with the
standard of GB/T1804-m

$2R | £2F

55 56 51 58 59
37
38
39
40
L1
L2
43
Li
45
6 64 $-109 Heat msulation pad of liquid level sensor | 3-60 2 Aramid fiber production( has mauld)
63 | YW64000400500 Hex nut Mb A2-70 4 GB/T6170
62 | YW630L2500000 |Cross recessed pan head screw Mux2s|  Q235A 2 GB/T-823
61 S-82 Liquid level indicator nuf He2 1 1/46"H
8 L1 60 | YE32382L00000 Solenoid valve 24V 1 3/8PT (kailing)
59 YRL0251500100 Plastic plug without nut PVC 2 SM25x15(Black )
58 YR20121200000 Flexible graphite gasket ISD-68 2 120x120x2.0
57 | STM-1215HT-B-03 Heater pipe assembly 1 Welding parts Borrowed
56 S-08 Pipe coupler H58 1 1/ L"PT=1/4"PT
55 Yw50220000000 Butterfly ball valve SUS304 1 1/4" heat-resistant 200T
Sk BES0341500050 Thermocouple SUS304 1 15M
53 YE67108000000 Quick connector of hose PvC 1 WQaG1-P09B
52 YR10110000000 MP-100Graphite gaskef IS0-68 | 2 has mould
51 | STM=9Q07HT-B-17 | Lengthened strew of oil discharge H58 1 Borrowed
50 | YW66081900000 Flat washer 8 0235A L 8x19x2.0
L9 | YW60062500000 Hexagon bolt M6x25 L8 L GB/T5781
L8 MP-100 magnetic drive pump MP-100 | QT400 1 KW anbo
L7 | YW59383800100 Pipe coupler SUS304 | 1 3/8"PT=3/8"PT L
L6 S-142 The four-set of the capper tonnector 1
L5 | STM-1220-B-06 Cooling water bypass SUS304 | 1
LL | YW57010200000 Y Type Strainer H62 1 1/2" PT 30-35 mesh
L3 S-73 Copper joint H62 1 M13x1/2"PT
L2 YR30010200000 Copper pipe plug Rubber 2 1/2°PT
L1 | STM=1220M-B-03 | Water mlet of cooling tank’s cooling pipe | SUS 304 1
40 | Yw05083800100 Sleeve connector [ 8MMX3/8"PT L[H59)
39 STM-607-B-04 Cooling pipe assembly 1 Welding parts Borrowed
38 S-190 Heating tube cover SPCC1O | 1
37 | STM-1220-B-03 Level detector pipe SUS304 | 1
i £ % 4 % A HE g .23
HHE s LU L T T
e - -b-
it ¥ WA =Rl
L SHINJ i5mrsanennaa | KRR
it Ry EUE ERA By | W BEY Shiri Plastics Technologies, Inc. W ‘




Pump Max. Pressure (bar) Max pump FlavlL/min) Pump Power (kW) HeaterlkW) | Max. Temp. Weight(kg) Ver
- o 73 62.5 238 24 | 200°C 145 F
2 = Heating Ta
/// /%///// J R Inlet /Outlet Size CE PT female thread (inch) Cooling Method Main/Sub Dit Tank|L) Number
4 d _ 1”1 e ot /16 2
wy _
L]
© @
1
NN =
“: [ T [ —
% e / . 4
1062 421 74 :
Yy 4
. 4
V.
A
2z
4
|| |08 £ :
- [mm
9
2 STM-2440M-B-ALL Internal structure 1
1 STM-2L4LOM-A-ALL Shell metal plate 1
ids R % 4 % Ih‘TP 58| £
Tech Reg HE 85 B STM-24L0M B2 Wl %&
1R burrs, and blunt edges; o . STM-2LLOM-ALL
2 Uenr:noavrieduzjr\;ei;onautnfoteergaenies shall comply with the &ﬁ' ﬁ Mﬁﬁﬂm ‘E‘@‘ )ﬂﬁ
standard of GB/T1804-m Bt b3 g ’ BRI AT AHER
i Eod g FHA TR B ‘ ‘ ‘ u Shiri Plastics Technologies, Inc. W ‘




Tech. Reg
1. Remave burrs, and blunt edges;

2. Unmarked dimensional tolerances shall comply with the

standard of GB/T180L-m

s

Ardis

5
STM-2440M-A-ALL

7%,
/7 2000000 1
|
37| YP31118600600 Alu. label 2024 1| Use Shell heat medwm oil S2 for damesthic sales
0000000
MW . s —
’ N = 34| YE90048501200 RSL85 Communication interface board 1
'y T T T 33| YRLO0L8500000 Shell RS485 1
32| YWO03000300200 3" without brake Castor Q235A | 2
2 31 | STM-2440M-A-02 Right side plate 1 Welding parts
30 | YRL0523040000 Plastic flexible butkle PVC 1 52x30 has mauld
SNA 29 | YW01051000000 Pin spring 65Mn 6 for new type STM
28 | STM-24L0-A-0L Base plate of control box SECCTIS | 1
27| STM-244L0-A-02 Control box rear plate 1 Welding parts
26 | YW65020500000 Rivet 2024 33 GB/T 827
25| STM-2440M-A-03 Left side plate 1 Welding parts
27 28 24 | YW65008000100 Standard spring washer 8 65Mn 6 GB/T93
23 | STM-2L4L0OM-A-01 Rack 1 Welding parts
22 | YW61082001200 Inner hexagon cylindrical screw MBx20 129 n GB/T701
211 YW20660900100 Door plank aluminum handle 2024 1 6609(yaxuan)
20| STM-2440-A-03 Cantral box 1 Welding parts
19 | YW69081500000 Butterfly bolt M8x15 Q235A | 2 GB/T 3098
18 | YW66081900000 Flat washer 8 Q235A 6 8x19x2.0
17 | YW00040600000 Door lack long fender SUS201 | 1 MF-406-0H
16| YwW00000000100 Long doar lock PVC 1
151 YW00040600200 Long door lock key SUS201 | 1 CF-L06-DH
14| YW63040600000 Cross recessed pan head screw Mbx6 Q235A | 2 GB/T-823
13 YE10021160000 Main power switch PvC 1 T0-2-1/EA/SVB/16A Mule
12 | STM-2L40-A-05 Door plank 1 Welding parts
M YW61061600100 Inner hexagon round head screw M6x16 Q235A | & GB/T702
10 SG-S-01 Fixing board of wire clamps SPCC2.0 | 1
9 YW06219100000 Big hinge 2024 2 Shengjiv CL219-1
8 YW62051000100 | Large cross socket flat head screw M5x10 | QZ235A | 12 Jistn
7| YW6T0L0600600 | Cross socket panhead self-tapping lock screw Max6 | Q235A | 5 GB6560
6 | YW62061000000 |Large cross socket flat head screw Méx10 | Q235A | 16 Jistmn
5 | YW67L819500000 Cross socket head tapping screw Q235A | 1 GB/T15856.1
L YRL0018500000 Fixed base PvC 1 WQSAD18 5B
3| YW03000300000 3" with brake Castor Q235A | 2
2 YE67002900000 Cable clamp PVC 1
1 BE51250400450 Cable 1 | 25x4CxbM(Tubular termnal)Select based on voltage
i K% 4% % HE HE £
HE W% B STM-2440M mﬂ %E

— U R

EHH

ERE

ERA

EE

SHINI

S BRMARNERAR
Shini Plastics Technologies, Inc.

FEER

g




£1F | £2F

18
17 1
16
15 2
3
- é 32 [ STM-2440M-B-02 Heating Fank 1 Welding parts
3 31| YW63062500000 | Crossrecessed pan head screw Mex2s Q235A 2 GB/T-823
- 6 30 S-30 Aluminum oil cap YL-112 1 3/4"G female thread
1 29 | STM-2LL0OM-B-01 Caoling hopper 1 Welding parts
8 28 | YWO04141400100 Pipe coupler L H62 1 VL"PTx1/L"PT L
27 S-60-ALL Level defector assembly 1 Assembly
_ 26 | YR30010200000 Copper pipe plug Rugber | 2 /2"PT
/}/, 9 25 | YW66061300000 Flat washer A grade 6 Q2354 2
5 0 2L | YW62051000100 | Large cross sacket flat head screw M3x10 Q235A 6 JISTM
23| STM-2440-A-09 Ball 1 Welding parts
221 YE14152400000 Micro switch 1 LXW5-1124 rod length 100mm
21 BH12060701710 H to PT connector HS8 2 female thread 1/4"PT to 1/L"H
1 20 | YW63030600000 Crass recessed pan head screw M3xé Q235A 3 GB/T-823
19 | YW85001000100 Pressure gauge 1 0~10MP3 Range
18 | YW65010000000 Standard spring washer 10 65Mn 2L GB/T93
17 | YW66102000100 Flat washer A grade 10 Q235A | 24 GB/T97 1 (11x20x2)
16 | YW61102500000 nner hexagon cylindrical screw M10x25 129 L GB/T70.1
15 STM-2LLD-B-10 |Mounting plate insulation cotan of heating tank| 3l uminium 1
16| BH90115000050 High temp. feser K £GO
bl T 13 | YW60062500000 Hexagan bolt M6x25 L8 L GB/T5781
a 12 | YW6L000600300 Hex nut M6 Q2354 6 GB/T6170
o 1 S-171 Teflon plug Hs8 1 3/8" Hplug
= 10 | YE32382L00000 Solenoid valve 24V 1 3/8PT lkailing)
O g S-73 Copper jont H62 1 M13x1/2"PT
. 8 | YR20121200000 Flexible graphite gasket 150-68 | 3 120x120x2.0
7 YE67165800000 Quick connector of hose pVC 2 WQG1-M16B/AD15.8
% 6 S-190 Heating tube cover spccio | 2
[=: 5 | STM-2440-B-07 Assembled heafing ppe components 2 Assembly
A YW61103000100 Inner hexagon cylindrical screw M10x30 129 21 GB/TT70.1
3 STM-2440-B-09 |Water outlet of coaling tank’s coslng pipe | SUS304 1
31 2 | YW05083800100 Sleeve connecfor A 8MMX3/8"PT L(H59)
1 STM-607-B-04 Coaling pipe assembly 1 Welding parts Borrowed
% £ % 4 & AR BE i
- 4 Wi wa s B I
1. Remove burrs, and blunt edges; L
2. Unmarked dimensional fotergantes shall comply with the &ﬁ' ﬁ Wﬁ}%ﬁ g @ )ﬁﬁ

standard of GB/T1804-m Bt ® e S5 R B R S KEER
ﬁiﬂ i&#j i&)ﬁ E%}\ Em ?ﬁ Eﬁ éH’N’ Shini Plastics Technologies, Inc. %ﬁ% ‘




Tech. Reg
1. Remove burrs, and blunt edges;

33

34 35 36 3738

2. Unmarked dimensional folerances shall comply with fhe

standard of GB/T180L-m

39

40

$2R | £2F

59 | YW66061800000 Big gasket A grade 0235A | 4 GB/T96.1(6x18x1.5)
58 | YW66082200100 Big gasket C grade 0235A | 4 GB/T968(8.Lx2Lx2)
57 | BM20280000650 magnetic drive pump MP-280 1 2 8KW 100L/min 80M Anbo
56 | YW05061400000 Sleeve connector 5 6MMX1/4"PT[H59)
55 S-109 Heat insulation pad of liquid level senser 3-60 2 Aramid fiber production( has mould|
54| YW64000400500 Hex nut M. A2-70 2 GB/T6170
53 | STM-24L4L0M-B-03 Pressure gauge pipe SUS304 | 1
52| YE67109000000 Quick connector of hose PVC 1 WOG1-P09B
511 Ywe5006000100 Standard spring washer 6 65Mn 6 GB/T93
50 | STM-907THT-B-17 |Lengthened screw of oil discharge H58 1 Barrowed
491 YW04030800400 Tonflon connector H58 1 1/4"PTx3/8"H L
48 | YW59383800100 Pipe coupler SUS304 | 1 3/8"PTx3/8"PT L
L7 S-85 Copper joint H58 1 3/8"PTx dia. 13
L6 S-142 The four-set of fhe copper connector 1
L5 YW57010200000 Y Type Strainer H62 1 1/2"PT 30-35 mesh
LL S-84 Copper three-way pipe thread adapfer 3/8"] 1 Equipped with universal copper nuf
L3 | STM-24LL0-B-05 [Water inlet of cooling tank’s cooling pipsl SUS304 | 1
L2 | STM-24LL0-B-06 | wafer outlet of il tank’s cooling pipe | SUS304 1
L1 YR10150000000 Flange gasket IS0-68 2 TP-150-A-18( has mould)
L0 | YRL0251500100 Plastic plug witheut nut pvC 2 SM25x15(Black )
39 | BE90342500050 Thermocouple SUS304 | 1 25M
38 S-82 Liquid level indicator nut H62 1 1/4"H
37| STM-2440-B-08 Ol bypass SUS304 |
36 | YW66051300000 Flat washer A grade 5 0235A 1 GB/T97.1(55x10x1)
35| YW05061400100 Sleeve connector 3 6MMX1/4"PT L(H59)
34 YW50220000000 Bufterfly ball valve SUS304 | 1 1/L" heat-resistant 200°C
33| STM-2440-B-03 Level detector pipe SUS304 |
e k% % % E|BE P
Ll K% R STM-2LLOM % ML BALL MJ\ K&
it ¥ RS — O R
L4} * SHIN :5=pnssnnna KEER
it EHd Ehk ERA Bl | WM B Shiri Plastics Technologies, Inc. W ‘




	機構圖STM-607M-3Φ230V400V50HZ(VER.G)EN BP33607302800
	機構圖STM-910M-3Φ230V400V50HZ(VER.F)EN BP33910301800
	機構圖STM-1220M-3Φ230V400V50HZ(VER.F)EN BP33122003600
	機構圖STM-2440M-3Φ230V400V50HZ(VER.F)EN BP33244001600

